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Get into pairs. One of you must have a watch with a seconds

hand on it.
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Average Rate of Change — A @.o

definition -
the average rate of change is how much the dependent variable (usually y)

changes for a given interval of the independent variable (usually x)
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Example 1:
For each function, determine the average rate of change on the intervals [0, 2] [2, 4] and [4, 6]
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So another definition for AROC...

The average rate of change on the interval [x4, X] is the slope of the
secant passing through the points (x1, y1) and (x2, y=)
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EXAMPLE 3 Using a graph to determine the average
rate of change

Andrew drains the water from a hot tub. The tub holds 1600 L of water. It takes
2 h for the water to drain completely. The volume V, in litres, of water remaining
in the tub at various times #, in minutes, is shown in the table and graph.

Volume of Water in a Time (min) Volume (L) Y
Draining Hot Tub O
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a) Calculate the average rate of change in volume during each of the following
time intervals. .
D 30=+¢=90 i) 90 = ¢= 110 -1 - |0
i) 60 =:¢=90 iv) 110 =¢= 120 lV 0 0 s _=

b) Why is the rate of change in volume negative dunng each of these tim / )]
i
intervals? o ‘_‘ 20 \S {_&\{ &,&Q m -
c) Does the hot tub drain at a constant rate: pla_ln _ l L
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